



College Module

Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: Master of Commerce Semester - I

**Return Submission Result** 

Chanan No.: 2009656	Data . Azia.	
	Date: 17/11/2020 12:29 PM	Total No. of students: 5

S. No.	Fee Type	iotal No. of students: 5		
- 1	Registration Fee	No. of students	Amount per Student	Total Amount
2		0	400	0
	Enrollment Fee	0	300	0
3	Special Migration Fee	0	350	0
4	Verification Fee	0	1000	0
5	Eligibility Fee	0	250	0
6	Eligibility Form Fee	0	200	0
7	Re-Cheking Fee	5	300	1500
8	Continuation Fee	0	400	0
9	World University Fee	5	50	250
10	Student Holiday Home Fee	5	100	500
11	Youth Welfare Fee	5	200	1000
12	University Sports & Development Fee	5	880	4400
13	College Development Fee	5	60	300
14	NSS Fee	5	20	100
15	Verfication Fee (Foreign Students)	0	3500	0
16	Eligibility Fee (Foreign Students)	0	3000	0
17	Late Fee	0	0	0
18	Alumni Fee (Colleges)	5	100	500
19	Re-Registration Fees	0	400	0
20	Challan Late Fee	5	0	0
	Grand Total (Due D	Date : 25-11-2020)		8550*

\*- If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

#### Return submitted for following candidates

S. No.	Application ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late Fee
	2017010002496	MONIKA	F	BALRAM	2009656	(B1) Already Regd. with GNDU and Admitted to new Degree	0
/ 2	2017010013802	GURPREET /	F	MANJIT SINGH	2009656	(B1) Already Regd. with GNDU and Admitted to new Degree	0
3	2017010020017	GURPREET /	F	S.KULDEEP SINGH	2009656	(B1) Already Regd. with GNDU and Admitted to new Degree	0
4	2017010023220	SIMRANJIT /	F	MANMOHAN SINGH	2009656	(B1) Already Regd. with GNDU and Admitted to new Degree	0
<b>)</b> 5	2017010024703	SUMEET KOUNDAL	М	SURINDER KUMAR	200965	Degree Degree	
					Digit Rake	ally signed by Dr esh Joshi	
					2024	1.02.21 1:45	





. College Module Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: Master of Commerce Semester - I

Challan	No.: 2009657 Date: 17/44/02	rn Submission Result		
S. No.	Fee Type Date : 17/11/2020 12:32 PM	Total No. of students: 3		
1	Registration Fee	No. of students	Amount per Student	Total Amount
2	Enrollment Fee	0	400	0
3	Special Migration Fee	0	300	0
4	Verification Fee	0	350	0
5	Eligibility Fee	0	1000	0
6	Eligibility Form Fee	0	250	0
7	Re-Cheking Fee	0	200	0
8	Continuation Fee	3	300	900
9		0	400	0
10	World University Fee	3	50	150
	Student Holiday Home Fee	3	100	300
11	Youth Welfare Fee	3	200	600
12	University Sports & Development Fee	3	880	2640
13	College Development Fee	3	60	180
14	NSS Fee	3 <sub>.</sub>	20	60
15	Verfication Fee (Foreign Students)	0	3500	0
16	Eligibility Fee (Foreign Students)	0	3000	0
17	Late Fee	0	0	0
18	Alumni Fee (Colleges)	3	100	300
19	Re-Registration Fees	0	400	0
20	Challan Late Fee	3	0	0
	Grand Total (Due Da	ate : 25-11-2020)		5130*

<sup>\* -</sup> If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

#### Return submitted for following candidates

S. No.	Application ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late Fee
1	2017010012353	PRIYA BHAGAT	F	SWARN LAL	2009657	(B1) Already Regd. with GNDU and Admitted to new Degree	0
2	2017010018831	GEETANJALI ARORA	F	RAKESH ARORA	2009657	(B1) Already Regd. with GNDU and Admitted to new Degree	0
3	2017010030838	SWATI /	F	RAJ KUMAR	2009657	(B1) Already Regd. with GNDU and Admitted to new Degree	0

Signature valid

Digitally signed by Dr Rakesh Joshi 2024.02.21 1:45

+05:30





College Module

Name of the College: HINDU COLLEGE, AMRITSAR (Regular)

Class: Master of Commerce Semester - I

Challan No.: 2009658 Date: 17/11/2020 12:34 PM Total No. of students: 1 Return Submission Result

S. No.	Fee Type	Total No. of students: 1		
1	Registration Fee	No. of students	Amount per Student	Total Amount
2	Enrollment Fee	0	400	0
3	Special Migration Fee	0	300	0
4	Verification Fee	0	350	0
5	Eligibility Fee	0	1000	0
G	Eligibility Form Fee	0	250	0
7	Re-Cheking Fee	1	200 300	300
8	Continuation Fee	0	400	0
9	World University Fee	1	50	50
10	Student Holiday Home Fee	1	100	100
11	Youth Welfare Fee	1	200	200
12	University Sports & Development Fee	1	880	880
13	College Development Fee	1	60	60
14	NSS Fee	1	20	20
15	Verfication Fee (Foreign Students)	0	3500	0
16	Eligibility Fee (Foreign Students)	0	3000	0
17	Late Fee	0	0	0
18	Alumni Fee (Colleges)	1	100	100
19	Re-Registration Fees	0	400	0
20	Challan Late Fee	1	0	0
	Grand Total (Due Da	ate : 25-11-2020)		1710*

<sup>\* -</sup> If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

#### Return submitted for following candidates

						,	
S. No.	Application ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late Fee
1	2017010002611	SHABNAM	<b>/</b> F	JAGAT LAL	2009658	(B1) Already Regd. with GNDU and Admitted to new Degree	0

Signature xalid

Digitally signed Rakesh Joshi 2024.02.21 1: +05:30



#### College Module

Name of the College: HINDU COLLEGE, AMRITSAR (Regular)

Class:

Master of Commerce Semester - I

hallan	Al-	Submission Result		
	10/2020 12,42 PW 10	tal No. of students: 1		
S. No.	Fee Туре	No. of students	Amount per Student	Total Amount
1	Registration Fee	0	400	0
*: 2 ·	Enrollment Fee	0	300	0
3	Special Migration Fee	0	350	0
4	Verification Fee	0	1000	0
5	Eligibility Fee	0	250	0
6	Eligibility Form Fee	0	200	0
7	Re-Cheking Fee	10.1	300	300
8	· Continuation Fee	0	400	0
. 9	World University Fee	1	50	50
10	Student Holiday Home Fee	1	100	100
11	Youth Welfare Fee	1	200	200
12	University Sports & Development Fee	1	880	880
13	College Development Fee	1	60	60
14	NSS Fee	1	20	20
15	Verfication Fee (Foreign Students)	0	3500	0
16	Eligibility Fee (Foreign Students)	0	3000	0
17	Late Fee	0	0	100
18	Alumni Fee (Colleges)	1	100	100
19	Re-Registration Fees	0	400	0
	Grand Total (Due Date	e : 06-11-2020)		1810*

\* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Retur	n submitted fo	r follow	ing can	didates			
S. No.	Application ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late Fee
1	2014012008831	MAMTA	F	KEWAL KISHAN	2002692	(B1) Already Regd. with GNDU and Admitted to new Degree	100

Signature valid
Digitally signed by Dr
Rakesh Joshi
2024.02.21 1:45

+05:30



#### College Module

Name of the College: HINDU COLLEGE, AMRITSAR (Regular)

Class: Master of Commerce Semester - I

Challan	No. : 2002696 Date : 29/10/2020 42:40 PM	Submission Result		
S. No.	No. : 2002696 Date : 29/10/2020 12:43 PM To	tal No. of students: 1		
1		No. of students	Amount per Student	Total Amount
2	Registration Fee	0	400	0
	Enrollment Fee	0	300	0
3	Special Migration Fee	0	350	0
4	Verification Fee	0	1000	0
5	Eligibility Fee	0	250	
6	Eligibility Form Fee	0	200	0
7.	Re-Cheking Fee	1	300	300
8	Continuation Fee	0	400	0
9	World University Fee	1	50	
10	Student Holiday Home Fee	1	100	50
11	Youth Welfare Fee	1	200	100
12	University Sports & Development Fee	1	880	200
13	College Development Fee	1	60	880
14	NSS Fee	1	20	60
15	Verfication Fee (Foreign Students)	0		20
16	Eligibility Fee (Foreign Students)	0	3500	0
17	Late Fee	0	3000	0
18	Alumni Fee (Colleges)		0	200
19	Re-Registration Fees	1	100	100
		0	400	0

\* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Grand Total (Due Date: 06-11-2020)

Return submitted for following candidates							
S. No.	Application ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late
1	2015012017062	ALISHA SETH	F	RAJ KUMAR	2002696	(B1) Already Regd. with GNDU and Admitted to new Degree	Fee 200

Signature xalid

400

1910\*

Digitally signed Rakesh Joshi 2024.02.21 11:4

+05:30